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N.B. .— (@) Attempt All questions.

(i1) All questions carry equal marks.
(@it) Use of calculator is allowed.
(@) §& T e
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1. Calculate the Karl Pearson’s coefficient of skewness from the following
data : 10
X F
4 — 8 6
8 — 12 10
12 — 16 18
16 — 20 30
20 — 24 13
24 — 28 12
28 — 32 10
32 - 36 6
P.T.O.
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X F
4 — 8 6
8§ — 12 10
12 — 16 18
16 — 20 30
20 — 24 13
24 — 28 12
28 — 32 10
32 — 36 6

Or
(Rera)

What is cost of living index number ? Explain the utility of cost of living
index number.

WO T e =S %™ ? U0t ©e (SRl STANal T hl.

Calculate the 5-yearly moving averages from the following data : 10
Year Production
2002 23
2003 26
2004 28
2005 32
2006 20
2007 12
2008 12
2009 10
2010 9
2011 13
2012 11
2013 14
2014 12
2015 9
2016 3
2017
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EL] ELICa
2002 23
2003 26
2004 28
2005 32
2006 20
2007 12
2008 12
2009 10
2010 9
2011 13
2012 11
2013 14
2014 12
2015 9
2016 3
2017 1
Or
(feram)

Write a short note on Kurtosis.
P.T.O.
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Calculate the consumer price index number by family Budget method from

the following data : 10
Goods 2013 2018
Price Quantity Price
A 20 12 30
B 25 15 40
C 30 18 50
D 40 21 60
E 50 24 70

o o

TTeld Alfgd=l STMUR Fed AN Tgd SqYe fohAd fasier e :

T 2013 2018

fehma EIE]] foma
A 20 12 30
B 25 15 40
C 30 18 50
D 40 21 60
E 50 24 70

Or
(feram)

What is time series ? State the components of time series.

HIAIAT TN HE ? SIS S T
Attempt any two of the following : 10
(@) Importance of time series

(1) Average of Relative price
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(zii)  Find out a trend of straight line by using the method of least squares
of the following data :

Year Profit
2010 80
2010 90
2012 92
2013 83
2014 94
2015 99
2016 92

(fv)  Calculate the first four moments from the following data :

X F
5 2
10 4
15 6
20 4
25 2

WATAUh! HIVAE I digal

@) HITHTTT HEd

@)  9uEd wmoy foema

P.T.O.
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(i) erel oo wfediasd =AqH o Igdiud Wes T Yl Fel

L) TR
2010 80
2010 90
2012 92
2013 83
2014 94
2015 99
2016 92
(iv) Teid Hfgdea STER dfgcd 9R IR w1l .
X F
5 2
10 4
15 6
20 4
25 2
B—268—2019 6
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